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2/Z(mm) RPM FEED £

0.4 40,000 200 =

Q

0.6 40,000 350 =
0.8 40,000 550
1.0 40,000 700
2.0 25,000 800
3.0 20,000 800
4.0 18,000 950
5.0 14,000 1,200
6.0 11,000 1,400
8.0 8,000 1,300
10.0 6,500 1,200
12.0 5,500 1,200

RPM = rev. / min.
FEED = mm / min.
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[ WGR502 series ]
2| (mm) RPM FEED

0.4 40,000 640
0.6 40,000 640
0.8 40,000 800
1.0 40,000 960
1.2 40,000 1,200
15 40,000 1,440
2.0 40,000 1,600
3.0 27,000 1,900
4.0 20,000 2,300
5.0 16,000 2,300
6.0 14,000 2,300

RPM = rev. / min.

FEED = mm/ min.
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